PLAYER STRATOCASTER® HSS FLOYD ROSE®

O

14 )13 )11

14)13)12

171615

“Poadsi

[e]
o
[e]
[e)

(114-9402-XXX/114-9403-XXX)

0000OO0O

000000

0 O O 00

®
®0 © @ 08

PARTS LAYOUT

18)19)20

21)22)23)24

25)26
27)28) 9

COPYRIGHT - 2018 - FENDER MUSICAL INSTRUMENTS CORPORATION

DD

34

35

10 9

31)32)33

Page 1 of 6
APR 25, 2018 - Rev. B




PLAYER STRATOCASTER® HSS FLOYD ROSE®

(114-9402-XXX/114-9403-XXX)

PARTS LIST
REF# DESCRIPTION PART NUMBER

1 BODY PLAYER STRAT FR 3TSB 7712738500

BODY PLAYER STRAT FR TDP 7712738513

BODY PLAYER STRAT FR PWT 7712738515

BODY PLAYER STRAT FR SRD 7712738525
2 | NECK PLAYER STRAT FR PF 7712471000

NECK PLAYER STRAT FR MN 7712472000
3 | KEY GTR DUAL PIN MNT 0037429049
4 | WASHER KEY 0053106049
5 | BUSHING KEY 0058820049
6 | NUT, FLOYD ROSE #2 CHRME 1.625"W #601211 9280650129
7/ | BRIDGE F ROSE STD FRT-S1000 0068144000
8 | PICKGUARD STD STRAT HSS FR B/W/B 7706881000
9 | SCRW SMAB 4x1/2 OHP NI 0015578049
10 | COVER BACK PLATE FLOYD ROSE STRAT B/W/B 0054115000
11 | PICKUP ASSY STD MEX NECK PARCH 7713131000
12 | PICKUP ASSY STD MEX MID PARCH 7713132000
13 | TUBING LATEX CUT .300 x 1/8ID x 1/40D 0994916000
14 | SCRW 6-32X3/4 RHP STL NI 0099346000
15 | PICKUP ASSY “SHAWBUCKER 1E” PARCH 7712283000
16 | SCREW M#3-48x13/16 RHP#4 HD 0050166049
17 | SPRING HB MTG 3/4" 0050167049
18 | 5-WAY SUPER SWITCH 0992251000
19 | SCREW-MA 6-32X5/8 RH NI 0994925000
20 | KNOB PICKUP SWITCH PARCHMENT 0056253049
21 | KNOB STRAT VOLUME/TONE PARCH 0056254049
22 | CONTROL 250K 10% TPR SPLIT 0990830000
23 | NUT HEX 3/8-32x3/32 TK NI 0016352049
24 | WSHR LCK INTL 3/8x.500x.020 0022384049
25 | JACK PHONE 1/4 - OUTPUT 0047329049
26 | NUT HEX 3/8-32x3/32 TK NI 0016352049
27 | WASHER LOCK INTL 3/8 X .687 0016436049
28 | FERRULE JACK CHR STD STR 0033023000

Pt

COPYRIGHT - 2018 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 2 of 6
APR 25,2018 - Rev. B




PLAYER STRATOCASTER® HSS FLOYD ROSE®

(114-9402-XXX/114-9403-XXX)

PARTS LIST
REF# DESCRIPTION PART NUMBER
29 | NECK PLATE “F” TILT HOLE 7713198000
30 | SCRW SMA 8x1-3/4 OHP NI 0015636049
31 |BUTTON STRAP NI 0.156 0994915000
32 | SCRW SMAB 5x1 OHP NI 0015610049
33 | WHITE FELT WASHER 0994930000
34 | SPRING, TREMOLO CLAW NICKEL 0050918000
35 | SPRING TREMOLO TENSION, NI 0050922000

Pt

COPYRIGHT - 2018 - FENDER MUSICAL INSTRUMENTS CORPORATION

Page 3 of 6
APR 25, 2018 - Rev. B




PLAYER STRATOCASTER® HSS FLOYD ROSE®

(114-9402-XXX/114-9403-XXX)
WIRING DIAGRAM

e
T— N

(@) ODODOOT@
oo

©)

7
© OoOoOooGoOOO ©

5-WAY
SWITCH

® [®
___looo

\ MASTER 0

VOLUME

CAPACITOR
.022 mF

WIRES TO GND LUG
OUTPUT JACK o /SOLDER
\ /

NECK
PICKUP

MIDDLE
PICKUP

BRIDGE
PICKUP

Page 4 of 6

2%@? COPYRIGHT - 2018 - FENDER MUSICAL INSTRUMENTS CORPORATION APR 25, 2018 - Rev. B




PLAYER STRATOCASTER® HSS FLOYD ROSE®
(114-9402-XXX/114-9403-XXX)

SWITCH AND CONTROL FUNCTION

(" 5.WAY SWITCHPOSITION )
4 N
5
/\/ )
ﬁ / 3 SWITCH
o 2 POSITION
/ /04 |
iy T T T1&T2 | T2 | TONE CONTROL
O
m u (c00000)[(c00000)(c00000)| NECK PICKUP
O
(090099)|(099000)/(900000) MIDDLE PICKUP
o) ®
= Gaeed|Eeesas| oo | R 0o PioKLP
®
® @BBED PICKUP IS ON
‘ INDICATES POSITION
NECK @ /OF 5-WAY SWITCH
PICKUP 3 PICKUP IS OFF 1
4 \ )
3
MIDDLE 5
PICKUP 000000 )® ]
BRIDGE ® MASTER
PICKUP ® of00o0000) ® VOLUME

(T1)

ik i}
|

Page 5 of 6
?%ﬂd@yg COPYRIGHT - 2018 - FENDER MUSICAL INSTRUMENTS CORPORATION APR 25, 2018 - Rev. B




PLAYER STRATOCASTER® HSS FLOYD ROSE®
(114-9402-XXX/114-9403-XXX)

ADDITIONAL SPECIFICATION DETAIL

FRET SIZE: MED JUMBO NECK PROFILE: MODERN “C”
(FRET DIMENSIONS ARE BEFORE INSTALLATION)

* v/ YO
82’
— PLEASE NOTE: AS EACH NECK +
IS SANDED & FINISHED BY

103” HAND, THICKNESS DIMENSIONS

' MAY VARY SLIGHTLY FROM 1STFRET PROFILE
I THOSE SHOWN.
.016”

b L2
I\

12TH FRET PROFILE

KEY GTR DUAL PIN MNT PING EA: P/N 0037429000 TUNING MACHINE THRU-HOLE
OUTER SHAFT DIAMETER .394” INNER DIAMETER .397”

|_[a])

>—

@.394"

TRUSS ROD NUT P/N 0041694000

\ T TF

10-32 THREAD J

LOGO: DECAL, STRATOCASTER MEX 2018, PICKUP SPECIFICATIONS
DECAL. ORIG CONTOUR BODY
APPLIED UNDER THE FINISH POSITION| MAGNETS |DC RESISTANCE | POLARITY
@ NECK ALNICO 5 6.7 - 7.7KQ NORTH
BEVELED
&%i STRATOCASTER@
% MIDDLE | ALNICO 5 7.7 - 8.3KQ SOUTH
e BEVELED
Sy
SCREW
BRIDGE | ALNICO 2 7.3-7.9KQ 28:;'::
BEVELED

® Page 6 of 6
;%J@é COPYRIGHT - 2018 - FENDER MUSICAL INSTRUMENTS CORPORATION APR 25, 2018 - Rev. B




